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Answer anv five questions: Sx1=5

(i} Which of the following ion has maximum ionic radins —
(a) Na:
(b) F~
(c) O~
(A

{ii) Be~ ic isoelectronic with which of the following fon: —
(a) H
(b) Li"
(c) Na~
(d) Mg =

{iti} According to HSAB theory, which of the following is a saff base 7

(a)CHCOO
(bh)Co. &

(c) NO.”
(hH™

{iv) Which of the following pairs iz different from the others?
(a)Li-Na
(b) Li-Mg
(c) B-51
(d) Be-Al



{(v) The trans-alkenes are formed by the reduction of alkynes with —

(=) Saxliq.l‘q_ﬂc

(b) Sn/HCI

(el H. ' Pd-C, BaS0.
(d) NaBH.

{vi) Choose the correct option :

CH-CH:-CH=CH: + HBr + (Organic peroxide) — A
"Alis

(a) CH.CH:CH:

(b) CH.CH.CH{Br)CH-:

(c) CH=CH.

(d) CH.-CH.-CH-CH-Br

(vii) The Friedel Crafts reactions using MeCl and anhydrous AICL mayv be carried out
best with

a) Benzene
b} Nitrobenzene

c) Toluene
d) Acetophenone

(viii) Which carbocation is the most stable —
(a) (CH.pHC
(b) H.C™

(€) (CH:RC™
(d) CH.H.C”

2, Answer any four questions: 4<2=8§
(i) Chloroacetic acid is a sirong acid compared to Acetic acid - Explain .
(it) Write down the drawbacks in the Bohr's Model.
(iif) Vinyl chloride has a lower dipole moment than ethyl chioride. Explain
(iv) Why iz the electron affinity of chlorine more than that of fluorine?

{v) Carry out the following transformation: Acetyvlene to 2-butyme



{vi) What do vou understand about conjugate acid-base pairs?
{(vii) Draw:all the steresisomers of tartaric acid mentioning enantomeric and diastereomeric pairs.

(vii) What do voun mean by disproportionation and comproportionation reaction?

3. Answer any two questions: 2=6=12
(i) (a) Draw the structures of (E}-2-cholors-2-butene & (R)-2-hvdroxy propanal (3)
(b) Write down the significance of four guantum numbers. (3
(ii) {a) Give a'short note on: Wuriz reaction (3)
(b) What are the Vander Waal's radii and covaleni radii? [2)
(c) The ionization energy of Na- is more than that of Ne although both have the same
elecironic configuration. Explain (1)
(iid) (a) Prepare isopropvl alcohol from propyne by applving following reagents: Aqueous KOH,
Benzov] peroxide, Lindler catalvst. (3
(b) Why [AsT]| is more stable than [AgF.] . Explain it by HSAB Principle. (2)
(¢) HI is a stronger acid than HCl and HF — explain. (1)

(iv) (a) What are the differences between SN1 and SN2 reactions?
Explain with suitable example. (32)

{b) Determine the value x and v in the following balanced eguation —
SH.O. +x Cl0. + 20H" — xCI' +v0. + 6H.0 (1)

(c) Explain the fine spectra in the light of Sommerfeld’s first modification. (1)



Bengali Version
I (1 S o0 2w e - 5%1=8

\) SiE FEtE FRaE SR SEhE e 7
a) Nz~

B F

) OF

d) AP°

H)TEE (Tt BT aE WiF IRRETSEE
aid"

b) Li”

)Nz

d) M=

i) HSABSY TR 558 (@mis (OF0 HEe
8)CHCO0"

b) CO:™
cI NOs
(dyB

) TR (W (TISIs e (5 =e
arbi-Na

b)La-Msg

) B-8:

d) Be-Al

V) TR AnA FG TE SiEe 3R I wEes o9 R 7
a) Nalig NH:
b) Sn'HC]

) H:Pd - C. BaSO:
d) NaBH:

vi) ey RS oEs o358 =7



CH:CH:-CH=CH: —HBr— ({59 TFaEe) — 44 1=

a) CH:CHE:CH:
b) CHsCH-CH(Br)CH:
eV CH=CH:

d) CH:-CH:-CH:-CH:-Br

vil) MeCl 4% F AlCh 995 TRF AIBR BHIES (30 [RGT-FHeT [§ey] FOnm SoF

a) (SEe _
b) SEREEEE

) B

d) STiERES

viLL) SIS (FTH SAIbEe NeEE e —
3) (CH:pHC

b) H:iC™

el (EH:):C

d) G HC



2. (9 (@7 5aE 9159 S TS 4% 2=8

1) SO SIS GraTy GFIGT STAiee anbne Sig ke I 3 |

ii} (STF WO 6 OmY 57 |

iil) feaas FTaRTes T 3NET @RS RS T A G (9 T 5 |
v) Z3fET gt @IS AL ales W19 Sl @7 T @ |

v) SIS TS ATBE (0w 2- [R8EEe

vi) SRR ST -FTSF I08 @ (J1E7

vil) BTEBTT S amPies FEE) SRCIHIES 09 0@y $9 | AT S (@14 (oein
AATETANTE 9792 (FF CATGIG CINIFbIIaRTI?

viil) ST TETTE S 350 SR TICNEAS [SLra] 3900 S (G197

3. (9 (19 76 (=T Tad W3 Ix6 = 12
i} a) sThe (7 - e 2 ETET- - [Ra e aw (Rl arTEE 3
b) 51310 (FINT0IH WS 51574 (7 | 3
it) a) BT (- S fafmaT | 3

b) EATE SATFT TIPTY 3 TASTO IS S8 1 (979 2
cRTT@ 54 (9177 393 T3TT A0E3 Na© 43 S9A1E &4 (99195 519 Ne :ﬁ'_r'tﬁ“!"r_uiﬁ

Tf%a (7 I FF | 1

iil} a) Y KOH, (R TIRaEke 4T Fos suh s T19579 913 (IR (5 030
CATIET FeNd 5%e dad 7 3

b) [AgF.]" a3 gare ) [4eL] o5 IFe - ST 53 1. 2
c)HF & HC1499 gamy HESE sihe | ST 3 | 1

iv) SN1 39t SN2 FRTESTs Sy e $7 S9gs SaaT 5T I F9 3

(v) o= TR x 472 y 57 W forfw 37 -

5HO, + x CI0, *+ 20H7 — xCI” + yO, + 6HO

(c) CTTHTASTES T4 WG Pae o 45 ST P 99141 ST a7 2



